| > 5= n+n+41;
> f:=proc(y)
description "factors the substitution of the eypression into n*2+n + 41";
factor(y2 +y+41);
end proc;
f=proc(y)
description "factors the substitution of the eypression into n*2+n + 41";
factor(y"2 +y +41)
| end proc
| >
| > # Small equation coeffieients doublecheck
[ >
> #The question I am attempting to answer in this project is — what integer values of n cause
L h(n) to be a composite number, and by extention, when is h(n) prime.
> #ris for row and c is for column. So y[r,c] is a composition of functions h( y[r,c]).
> # when y[r,c] is carefully chosen, it makes y[r,c] algebraically. This means that y[r,c] is the
L product of two integers, neither of which is 1 or —1, and thus y[r, c] is composite
> # [ am pretty sure that any n below a threshold lies on one of the lines described by the
L expressions below.
| >
[ >
> y[L,1]:=1z:
x[1, 1] = f(%);
X =2 4z+41
> y[1,2]:=72+40:
x[1,2] = f(%);
X 5= (22+Z+41) (zz—z+41)
> y[2,1]1:=27+z+81:
x[2, 1] = f(%);
x, = (47 +163) (F+z+41)
> y[3,11:=37+2z+122:
x[3, 1] = f(%);
Xy = (22+Z+41) (9ZZ+32+367)
> y[3,2]:=67+z+244:
x[3,2] = f(%);
Xy = (422 +163) (92 +32+367)
> y[4,1]1:=47+32z+163:
x[4, 1] = 1(%);
- 2 2
xy 1= (162 +82+653) (7 +z+41)
> y[4,3]:=122+52+489:

x[4,3] = f(%);
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xy 3= (162 +824653) (92 +32+367)

y[5,11:=524+4z+204:
x[5, 1] = f(%);
_ (2 2
xg = (Z+z+41) (2527 + 152+ 1021)

y[5,2] =102 +2z+407 :
x[5,2] = f(%);
_ 2 2
Xs = (42 +163) (252 +52+1019)

V[5,3]1:=152+4z+611:
x[5,3]1 = f(%);
X = (252 +5241019) (92 +32+367)

V[5,4] =202+ 11z+816:
x[5,4]:=f(%);
x5 4= (162 +824653) (257 +152+1021)

y[6,1] =62 +52z+245:
x[6, 1] :=f(%);
X = (Z+z+41) (36 2 +242+1471)

1[6,5] =302+ 192+ 1225 :
x[6,5] = f(%);
X, 5= (367 +24241471) (252 +152+1021)

y[7,11:=72+62z+286:
x[7, 1] = f(%);
x, = (£ +z+41) (492 +352+2003)

y[7,2] =142 +2z+570:
x[7,2] = f(%);
X, = (422 4163) (492 +7241997)

V[7,3] =217 +8z+856:
x[7,3] = f(%);
X, 3= (92 +324367) (492 +212+1999)

V[7,4] =282 + 132+ 1142 :
x[7,4] = f(%);
X, 4= (492 +21241999) (162" + 8z +653)

V[7,5] =352+ 62+ 1426
x[7,5] = f(%);
X, 5= (252 +5241019) (492 +72+1997)

V[7,6] =422 +29z+1716:
x[7,6]:=f(%);
X, o= (492 +35242003) (362" +24z+1471)
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y[8,1]:=82+7z+327:
x[8,1] = f(%);
xg = (6427 +48242617) (£ +z+41)

1[8,3]1:=247+72+978:
x[8,3] = f(%);
Xg 3= (6427 +16242609) (92" +3z+367)

1[8,5]:=402 + 9241630 :
x[8,5] = f(%);
xg 5= (642 +162+2609) (257 +52+1019)

V[8,7] =562 +41z+2289:
x[8,7] = f(%);
Xg 5= (497 +35242003) (642" +482+2617)

y[9,1]1:=92"+8z+368:
x[9,1] = f(%);
— (2 2
xg 1= (2 +z+41) (812 +632+3313)

y[9,2] =182 +z+733:
x[9,2] = f(%);
— 2 2
Xy 5= (812 +92+3301) (42 +163)

y[9,4] =362 + 19z + 1469 :
x[9,4] = f(%);
Xo 4= (162 +82+653) (812 +452+3307)

y[9,5] := 4527 +26z+ 1837 :
x[9,5] = f(%);
Xy 5= (812 +452+3307) (252 + 152+ 1021)

y[9, 7] := 63 7 + 8z +2567 :
x[9, 7] = f(%);
Xo 7= (812 +9243301) (492 +72+1997)

V[9, 8] := 727 + 55242944 :
x[9, 8] = f(%);
Xo 5= (812 +632+3313) (647 +482+2617)

$[10,1] = 102 + 9z +409 :
x[10, 1] = f(%);
X1 1= (1002 +80z+4091) (£ +z+41)

y[10,3] := 307+ 11241223
x[10,3] = f(%);
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Xp0.3:= (92 +32+367) (1002 +40 z +4079)

y[10,7] =70 2" +29 z + 2855 ;
x[10,7] = f(%);
Xy0.7:= (1002 +402+4079) (492 +21 z+1999)

y[10,9] =902 + 71 z + 3681 ;
x[10,9] = f(%);
Xj0 9= (1002 +802+4091) (812 +63 z+3313)

y[11,1] =112 +10z+450:
x[11,1] = f(%);
xip = (2 +z+41) (1212 +99 2 +4951)

y[11,2] =227 +2z+896:
y[11,2] = f(%);
v o= (1212 +112+4931) (42 +163)

y[11,3] =332+ 102+ 1345
x[11,3] = f(%);
Xy 3= (92 +324367) (1217 +332+4933)

YI11,4] =447 +21 241795 :
x[11,4] = f(%);
xip 4= (162 +824653) (12127 4552 +4937)

Y[11,5] =552+ 342+ 2246 :
x[11,5] = f(%);
Xy 5= (252 415241021) (1212 +77 2+ 4943)

YI11, 6] =66 2" +43 z + 2696 :
x[11,6] = f(%);
Xy 6= (36 2 +242+1471) (1212 +77 2+ 4943)

YI11,71:=772 +34z+3141 :
x[11,7] = f(%);
Xy 7= (1212 +552+4937) (492 +21 2+ 1999)

y[11,8] =882 +23 2+ 3587 :
x[11, 8] = f(%);
Xy 5= (642 4+162+2609) (1212 +33 z+4933)

Y[11,91:=99 2 + 10 z + 4034 :
x[11,9] = f(%);
Xip o= (1212 4+ 112+4931) (812 +92+3301)

y[11,10] == 110 2 4 89 z + 4500 :
x[11,10] = f(%);
X1 101= (1212499 2+4951) (100 2° + 80 z +4091)
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V'V

y[12,1]:= 122+ 11z+491 :
x[12,1] = f(%);
X, = (Z+z+41) (144 2 + 120z + 5893)

Y[12,5] == 60 22 + 11 z + 2445 :
x[12,5] = f(%);
X, 5= (252 +52+1019) (144 7 +24 2+ 5869)

Y[12,7] == 84 2 + 13z + 3423 :
x[12,7] = f(%);
X 5= (1442 +24 2+ 5869) (492 +7z+1997)

y[12, 117 =132 2 + 109 z + 5401 :
12, 117 = f(%);
Xy 1= (1212 499 2 +4951) (144 2 + 120 z + 5893)

y[13,1]:= 137 +122+532:
x[13, 1] = f(%);
xp5 = (1692 +143246917) (£ +z+41)

y[13,2] := 2627 +z+ 1059 :
x[13,2] = f(%);
Xp3.,:= (1692 + 132+ 6887) (42 +163)
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